
1. 0952  xx

Solución:

3
2





x

2. 0352 2  xx

Solución:

2
1

3





x

x

3. 083 2  xx

Solución:

3
8
0





x

x

4. 01582 2  xx
Solución: realsolución tieneNo

5. 02636 2  xx

Solución:

3
1

6
1





x

x

6. 0126 2  xx
Solución: No tiene solución real

7. 0274 2  xx

Solución:

4
1

2





x

x

8. 0239 2  xx

Solución:

3
1

3
2





x

x

9. 0217 2  xx

Solución:
3
0


x
x

10. 0546 2 x
Solución: 3x

11. 08125 2  x

Solución:
5
9
x




